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Syllogism

Examine the following statements:

UPSC (CSAT) 2010
1. All colours are pleasant.

2. Some colours are pleasant.
3. No colour is pleasant.
4. Some colours are not pleasant.

Given that statement 4 is true, what can
be definitely concluded ?

(a) 1and 2 are true.

(b) 3istrue.

(c) 2 isfalse.

(d) 1isfalse.

Consider the following Statements and

Conclusions: UPSC (CSAT) 2019

Statements
(i) Some rats are cats.

(ii) Some cats are dogs.
(iii) No dog is a cow.

Conclusions

(i) No cow is a cat.
(ii) No dog is a rat.
(iii) Some cats are rats.

Which of the above conclusions is/are
drawn from the statements ?

(@) I,1II and III
(b) TandII
(¢) Only III

(d) TIandIII
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Consider the following statements
UPSC (CSAT) 2016
1. Either A and B are of the same age or A
is older than B.
2. Either C and D are of the same age or D
is older than C.
3. Bisolder than C.
Which of the following conclusions can
be drawn from the above statements ?
(a) A is older than B
(b) Band D are of the same age
(¢) D is older than C
(d) A isolder than C

All good athletes want to win and all

athletes who want to win eat a well-

balanced diet; therefore, all athletes who

do not eat a well-balanced diet are bad

athletes. UPSC (CSAT) 2015

The best conclusion from this statement

is that

(a) mno bad athlete wants to win

(b) no athlete who does not eat a well-
balanced diet is a good athlete

(¢) every athlete who eats a well-balanced
diet is a good athlete

(d) all athletes who want to win are good
athletes

Consider the following statements
followed by two conclusions
UPSC (CSAT) 2015

Statements

() Some men are great.

(ii) Some men are wise.

Conclusion I: Men are either great or wise.
Conclusion II:Some men are neither great
nor wise.

Which one of the following is correct ?
(a) Only Conclusion I is valid

(b) Only Conclusion 1II is valid

(¢) Both the conclusions are valid

(d) Neither of the conclusions is valid
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Syllogism

Consider the following statements

UPSC (CSAT) 2015
1. Some <claim to have seen UFOs
(Unidentified Flying Objects ).

2. Life on other heavenly bodies is considered
to be a possibility.

3. Voyage to space is now an established fact.

From the above statements, it may be
concluded that

(a) UFOs are heavenly bodies

(b) UFOs are sent from other heavenly
bodies

(¢) some living species in other heavenly
bodies are more intelligent than man

(d) nothing definite can be said about the
UFOs

Consider the following statements
UPSC (CSAT) 2013

1. A primary group is relatively smaller in
size.

2. Intimacy is an essential characteristic of
a primary group.

3. A family may be an example of a primary
group.

In the light of the above statements,
which one of the following is true ?

(a) All families are primary groups

(b) All primary groups are families

(c) A group of smaller size is always a
primary group

(d) Members of a primary group know each
other intimately
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Syllogism

Examine the following statements

UPSC (CSAT) 2013
1. None but students are members of the
club.
2. Some members of the club are married
persons.

3. All married persons are invited for dance.

Which one of the following conclusions

can be drawn from the above statements ?

(a) All students are invited for dance

(b) All married students of the club are
invited for dance

(¢) All members of the club are married
persons

(d) None of the above

Consider the following statements
UPSC (CSAT) 2011
1. Only students can participate in the
race.
Some participants in the race are girls.
All girl participants in the race are
invited for coaching.
Which one of the following conclusions
canbe drawn from the above statements ?
(a) All participants in the race are invited
for coaching
(b) All students are invited for coaching
(c) All participants in the race are students
(d) None of the above
Consider the following argument “In
order to be a teacher one must graduate
from college. All poets are poor. Some
Mathematicians are poets. No college

graduate is poor.” UPSC (CSAT) 2011

Which one of the following is not a valid
conclusion regarding the above argument ?

(a) Some Mathematicians are not teachers
(b) Some teachers are not Mathematicians
(¢) Teachers are not poor
(d) Poets are not teachers
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Syllogism

Consider the following statements
1. Some locks are keys.
2. All keys are made from metal.
3. Some metals are hard.
Which of the following conclusion can be
drawn from the above statement ?
(a) All locks are keys
(b) All keys are hard
(¢) some locks are hard
(d) None of these UPSC (CSAT) 2012
Which of the following conclusions can
be drawn from the above statements ?
UPSC (CSAT) 2012
(a) All those who have a pair of binoculars are
members of the birdwatcher’s club
(b)) All members of the birdwatcher’'s club
have a pair of binoculars
(¢) All those who take part, in photo contests
are members of the birdwatcher’s club
(d) No conclusion can be drawn
Examine the following statements
UPSC (CSAT) 2011
All animals are carnivorous.
Some animals are not carnivorous.
Animals are not carnivorous.

R NI

Some animals are carnivorous.

Which of the following two statements
cannot both be true ?
(@) 1and 3

(b) 1and 2

(c) 2and3

(d) 3 and4
Statements UPSC (CSAT) 2015
(i) Some men are great.

(ii) Some men are wise.

Conclusions I. Men are either great or wise.
II. Some men are neither great nor wise.
Give answer

(a) if only Conclusion I follows

(b) if only Conclusion II follows

(c) if neither Conclusion I nor Conclusion II
follows

if both Conclusions I and II follow

@
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Consider the following three statements

UPSC (CSAT) 2011
(i) Only students can participate in the race.
(ii) Some participants in the race are girls.
(iii) All girl participants in the race are in-
vited for coaching.

Which one of the following conclusions
can be drawn from the above statements ?

(a) All participants in the race are invited
for coaching

(b) All students are invited for coaching

(c) All participants in the race are students

(d) None of the statements follows

Examine the following statements

regarding a set of balls.

UPSC (Civil Services) 1997
(i) All balls are black.
(ii) All balls are white.
(iii) Only some balls are black.
(iv) No balls are black.

Assuming that the balls can only be black or
white, which two of the statements given above
can both be true but cannot both be false?

Choose the correct answer from the codes
given below.

(a) TandIV

(b) TandIII

(c) IlandII

(d) Il and IV
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